s —

20110426 FHIEZAT 4w
e A = 510 & A v YRR AAEY
2 o0 8 4 B 27
l.j; x“dx = 3 2.]; (x+2)dx =
2 4 1 2 !
X+ 2)dx = =x° +2x
fozxzdxz x® % L(Jr) 2 T )
0
16 1 15 27
=248 |2 +2|=246=21
T35 g
4 16
3. [“Yxdx= 4.f3(x2+2)dx: 15
0 0
f4&dx——x24 2816 fs(x2+2)dx—lx3+2x3—9+6—15
0 3| 3 3 0 3 - N
S.Ry=x,y=x"*F &2 5 6.1y=x,y=8,x=04TH &2 5
N A y=8 /
2.8)
[ y=x3
dx
dA = (x — x*)dx
_ [t vy L dA = (8— x%)dx
A—j;(x—x)dx_6

A:LZ(S—X3)dx:12

7Ry=x"x=4,y=0THF %25

A

(4,16)

dA = (x* —0)dx

_ (%24, 04
A—‘/;xdx_3

8.Ay=x, y=x “TEE 2 5

(1,1)

dA = (v/x — x?)dx
_ ! 2y L
A—fo(x/_—x)dx_3

http://alliance.cust.edu.tw/portfolio/myPortfolio?path=mapleaf




s — 20110426

9. y=xX"=2,y=x*TR %2 5 f

(-1,-1)

X*—x—2=0 =(x+1)(x-2)=0
Xx=-1, x=2
dA =[x — (x* —2)]dx

A= fj[x—(xz — 2)]dx :fj(x—xz +2)dx

1, 1, . F (4 8 ][1 1
=X =X+ 2X =|=——+4|-|Z+=-2
2" 3 B [2 3 23
3 9 9
=———4+6=—
2 3 2

|

FIHEERT 4R
10. &y =x%,y=8,x=0*F % & %) x

(2) y b 2 A
(1) ¥Ex ph(F 4% %)
A y=8
(2.8)

\4

dV =78 — m(x%)° |dx

2
v=7rf2[64—x6]dx:7r[64x—1x7] _ [68r
0 70 ), 7
(2) y #h([F14 i)
A y=8 l
@.8)
y=x3
(x=y")
2
dV = mx’dy = wy3dy
a3 ,_ %
A A

http://alliance.cust.edu.tw/portfolio/myPortfolio?path=mapleaf




s — 20110426

1. fy=x", y=4, x=04&% - %' U@ %
3 (1) X $h(2) y ek 2 WA
(1) sexdn(FlE %)

A y=4 l

(2,4)

dx

\ 4

dV =[74? — m(x*)*|dx

2
v :wj;z[16—x4]dx:7r[16x—%x5]o :@

(2) %6y (Il #)

dy

y=x2

1
dV = 7x?dy = 7(y2)dy

4
=7-8=8r
0

4 1
V:j; 7rydy:7r§y2

TRIELEET 4R
12 £y=x, y=x"*TE % B E1) X $(Q2)y #h
KL =&
(1) S x gh(IFl 4 2 )

\ 4

dV =|x* —m(x*)?]dx
V= WL/;l[TFXZ —W(XZ)Z]dX

1
:w[1x3—1x5] =
3 5

0

(2) %6y #i(If1 3 %)

dv =

m(y?)’ —w(y)zldy

http://alliance.cust.edu.tw/portfolio/myPortfolio?path=mapleaf




